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1. ©R Reepiza »[ ofSh @99 wm Sew b
Tlanedr . 1x6=6

Find out the correct answer from the
alternatives given in each question :

(@) <5 TR Sypw  SRENTE TACAD 9B 1
o = i

A subgroup of the population that is to
be studied is called

(i) «fswd / sample
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(b)

()

P25/216

{ 2 )

(i) © / data
(1ii) ﬁ%‘?‘fﬁ/ statistic
(iv) SR WHiEeD! / All of the above

T A oy RO QIR 2l
The sum of absolute deviations about
median is
(i) TaoN
least
(i) IZo¥
greatest
(i) o
Zero
(iv) S°RF GoIe 7
None of the above

GBI 3B WAl e Rl =, I
A distribution is said to be skewed, if
(i) N4 = JYI| = I
Mean = Median = Mode
(1) TG # JYE] # JETP
Mean # Median # Mode
(iii) () S (ii) TCATO!
Both (i) and (ii)
(iv) S°[3 GOS8 72
None of the above
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(3)

(d) SOTEE QIRT W T Qe fin 35

The signs of correlation coefficient and
regression coefficient are

(i) ORI
both positive

(i) CABIR AARIS
both negative

(i) AR R
both opposite

() () LN (1)
Either (i) or (i)

(e) T x+2y-5=0 WF 2x+3y-8=0 [©F
SRR (J1 3¥, (SR X WIF yJ i 2]
If the two lines of regression are
x+2y-5=0 and 2x+3y-8=0, then
the means of x and y are
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(4)

() @S IBaq A
For a leptokurtic distribution

(i) By <3
(i) By >3
(@) By =3

(iv) B, =0

2. OF{ PPTRY Tey frE 4x4=16

Answer the following questions :

(@) SRR Cte e W MY SN e
A12(F] O F90 |

Distinguish between primary and
secondary data with example.

(b) (RENIOR (RS FICH b1 (O ferd |

Write a note on measures of skewness.

Explain why there are two regression
lines.

(d) T e @T @ A TE NI
T I R = ?
When are the two attributes said to be

| positively associated and negatively
} associated?

(c) TR R W TTE ACE, TR0 P
}
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(5)

3. (@ - ouR ENFIT HF il feee
f e 2 IR Ifeil Sogiom e &
FR EER 9 W ? G2 ETPTRS aifecsE R
S I 0 3+3+3=9

What do you mean by classification and
tabulation of statistical data? What are
the graphs that are used for presenting
a frequency distribution? Discuss each
of them briefly.

| 5{r/ Or
| (b) AR RS e[ @R RSy 499 I
S P41 | 9

Discuss the different types of
measurement scale used in Statistics.

4. (@) Rosaa sm 2 REFAT *[7 I Seafwe
PR e Sra 91 | 2+4=6

What is dispersion? Name its absolute
and relative measures.

%</ Or
(b) c®I R 6
Define :
(i) =P o5

Standard deviation
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(6)

(i) 279 {IRP
Coefficient of variation
(i) 37l Pregavan Sl SRS

Karl Pearson’s coefficient  of
skewness

5. oo frml amaRe R @ bR Te f
Answer any three of the following questions :

(@)

(b)

P25/216

751 DT rer SRSTIE WEo I A | Cry e
@ T e A [y WF wa AR

NP | 2+4=6

Deine coefficient of correlation between
two variables. Show that correlation
coefficient is independent of change of
origin and scale.

SR RS iR oI CrRSA (S
2o WO @SS Wi RITEA RS T |
orsd @ AR #ARESTT TR SRR FRES T

FORIES 27 | 1+2+3=6

Define regression coefficient. Show that
the geometric mean of two regression
coefficients become equal to the
correlation coefficient. Show that the
regression coefficients are affected due
to change of scale.

%.

A e



(c

(d)

P25/216

{8

o SR @Y AR syaq s 11 |

gy ¥ A -1STxy <1, 6 ry, (%

1 e T VRS | 2+4=6
Define Spearman’s rank correlation
coefficient. Prove that -1< rey S1,
where ryy 1S Karl Pearson’s correlation
coefficient.

o) RS e € I@ o g wa, 1B @

wF fofAbl 87 A, B, CJ I Wafeq 56712
SrER 90 | 3+3=6
What do you mean by consistency of
data? Write down the conditions of
consistency for a single attribute, two
attributes and three attributes A, B, C.
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Jor the questions

1. = o[ ofohl oMe wwm Sedco! dfb

Tferea

The figures in the margin indicate full marks

1x5=5

Find out the correct answer from the
alternatives given in each question :

(@) &b WY SRR SRIeEE St B R

EQ|

A subgroup of the population that is to

be studied is called
() afswf / sample
(i) ©U / data

(iii) efomfE / statistic

(iv) ©7¥3 SRl / All of the above

(b) TN ANATT *[¥¥ [vews @5FA T

The sum of absolute deviations about

median is

() F29% / least
(i) IeY / greatest
(i) *=0 / zero

(iv) S°¥9 9b18 =¥ / None of the above
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(o)

(d)

(e)

P25/216

(9)

wENEE QTS WF NENY a2 65 8°#

The signs of correlation coefficient and
regression coefficient are

(i) TR ¢e / both positive

(i) ‘Eﬂmﬁ‘m / both negative
(iii) Wﬁ“@'@ﬁ / both opposite
(iv) (i) <eq (i) / Either (i) or (i)

I x+2y-5=0 ¥ 2x+3y-8 =0 TO&

SR @R =, TSR x HIF y I TP ¥
If the two lines of regression are
x+2y-5=0 and 2x+3y-8=0, then
the means of x and y are

@ FIDF IBT I

For a leptokurtic distribution
() By <3

(@) By >3

(i) By =3

(iv) B2 =0




2.

(a)

(b)

(©

(d)

3. (@

P25/216

Y ﬁm&& \‘%! &m \

Answer the

{ 10 )

rouowing questions :

SRR P afls oF N SR TEE

Distinguish between primary and
Secondary data with example.

WWWQW@W'MI

Write a Note on measures of skewness.

TR 91 Reyy 1o <1, <0 40

Explain Why there are two regression
lines.

W@W@%ﬂywmﬁwwcﬁlﬁs

REN I e 2 2
When are the two attributes said to be

positively associated and negatively
associated?

APIRRE o afiesd S oo e
= 2 RIS Ol TR e [
1Y IR N =W 2 @3 @RS Al R

BYLF 901 97 3134358

What do you mean by classification and
tabulation of statistical data? What are
the graphs that are used for presenting
a frequency distribution? Discuss each
of them briefly.

{ Continued )

3%x4=12
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( 11 )
w931 / Or
(b) =ifvcm REES T3 a1 RAfey sqeom arpms
a9 9

Discuss the different types of
measurement scale used in Statistics.

4. (@) Rosd Wi B2 ROFIR omy o e
TPPTES A SCEY P9l 2+4=6

What is dispersion? Name its absolute
and relative measures,

%241/ Or
(b) = AR 6
Define :
(i) T3 Roe=

Standard deviation

(i) AV SIRP
Coefficient of variation

(iti) 1 PIEIDE FAST g
Karl Pearson’s coefficient of
skewness

5. oo fma 2R @ @ fofibr Ses fore

Answer any three of the following questions :

(@) D! 5ER WIER TR IR k@ 7131 | oryedl
@ STTEE 8N ¥F W 9= @ Affedaw
Reers 2+4=6
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